

STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
8/27/2021	28606

Bill To:
PEMBROKE PINES POLICE
ATTN: CHRIS/MARK
9500 PINES BLVD
PEMBROOKE PINES, FL 33026

Reference	2022 CORE TAHOE PPV	PATROL X/X			
Product		Description	Qty	Cust. Price	Total
16518177		S MAIN VEHICLE WIRING HARNE TING HARNESS 16518178 AND S		1 115.82	115.82
16518178	STANDARD STROBES-R-US ADDON HARNESS TO WIRE PUSH BUMPER LIGHTS. USED WITH MAIN HARNESS 16518177 AND SPEAKER HARNESS 16518180 *NON CONTRACT ITEM*			1 17.56	17.56
16518180	STANDARD STROBES-R-US	S ADDON HARNESS TO WIRE 2 AIN HARNESS 16518177 AND BU	MPER	1 19.52	19.52
183-0008		nal with manual reset, surface mou PER CONTRACT	nt	1 48.75	48.75
EB2-STT-RB	55" WECAN X DUO LEGACY OVERRIDE TO WHITE SCEI OVERRIDE TO AMBER ARR TRIO RED FOR STOP LIGH	/ BAR. FRONT IS 1/2 RED 1/2 BLU NE. REAR IS 1/2 RED 1/2 BLUE W OW. 2 CUSTOM PODS IN THE RI T M EITH VEHICLE-TO-VEHICLE SY	/ITH EAR ARE	1 2,698.00	2,698.00
STPKT*	WHELEN LIGHTBAR STRAF	KIT WITH BOLTS		1 0.00	0.00
C399	CONCOM CORE AMPLIFIER	R CONTROL MODULE (CAN ORD) TLMIC MICROPHONE FOR COM		1 0.00	0.00
CCTL7		VITH 21 PUSH BUTTON CONTRO MICROPHONE KIT	L HEAD	1 0.00	0.00
C399K6	l l	TALLATION KIT FOR C399 2021		1 0.00	0.00
CEXAMP		IFIER FOR DUAL TONE SIREN		1 0.00	0.00
			Sales Tax (7	7.00%)	\$0.00
 Phone #	Fax #	E-mail		Web Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	\\\\\\\	ROBES-R-US.	



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
8/27/2021	28606

Bill To:	
PEMBROKE PINES POLICE	
ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Reference	2022 CORE TAHOE PPV PATROL X/X			
Product	Description	Qty	Cust. Price	Total
	INCLUDED WITH CORE PACAKAGE			
CV2V	WECAN X VEHICLE-TO-VEHICLE SYNCH MODULE	1	0.00	0.00
	INCLUDED WITH CORE PACAKAGE			
SA315P	SA315P SPEAKER, BLACK PLASTIC	2	0.00	0.00
	INCLUDED WITH CORE PACAKAGE			
SAK70	SA-315 MOUNT KIT 2021 PPV TAHOE PASSENGER SIDE BEHINI	D 2	0.00	0.00
	GRILL			
	INCLUDED WITH CORE PACAKAGE			
TLIJ	ION T-SERIES LINEAR SPLIT R/B	4	74.25	297.00
	WHELEN LIST \$135.00 45% OFF PER CONTRACT			
HERO-W	HIDEAWAY LED W/WHITE INDICATOR LEDS/ R,B,A,W Warning LI	EDS 2	96.25	192.50
	(*Must use vehicle adaptor bezel for proper installation)			
	HELLA LIST \$175.00 45% OFF PER CONTRACT			
HERO-A	HIDEAWAY LED W/AMBER INDICATOR LEDS/ R,B,A,W Warning L	EDS 2	96.25	192.50
	(*Must use vehicle adaptor bezel for proper installation)			
	HELLA LIST \$175.00 45% OFF PER CONTRACT	AR 2		
HERO-ADAPTER6	HIDEAWAY LED ADAPTER FOR: 2020 ESCAPE FRONT AND REAR		10.45	20.90
	TURN SIGNAL ADAPTER	ONT		
	F150 FRONT TURN, F250 REAR TURN + REVERSE, ESCAPE FF	KONT		
	HELLA LIST \$19.00 45% OFF PER CONTRACT			
HERO-ADAPTER10	HIDEAWAY LED ADAPTER FOR 2021 TAHOE REAR TURN	2	10.45	20.90
TIERO TETTO	HELLA LIST \$19.00 45% OFF PER CONTRACT		10.43	20.30
AVC21RB	DUAL AVENGER II SOLO WITH CORD 2 SINGLE COLOR PODS	LEFT 2	195.80	391.60
7.002111.0	POD RED RIGHT POD BLUE		190.00	391.00
	WHELEN LIST \$356.00 45% OFF PER CONTRACT			
COMMANDERPLUS8-4R	8 POD COMMANDER PLUS WARNING AND DIRECTIONAL STICK	(1	373.45	373.45
4B	WITH 4 RED AND 4 BLUE PODS	` '	070.10	070.10
	STAR LIST \$679.00 45% OFF PER CONTRACT			
SRUS-L-3	"L" BRACKET FOR ARROW STICK 3"	2	8.95	17.90
	NON CONTRACT ITEM			
	_			
			20()	
	I .	Sales Tax (7.0	10%1	\$0.00

Phone #	Fax #	E-mail	Web Site
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
8/27/2021	28606

Bill To:	
PEMBROKE PINES POLICE	
ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Reference	2022 CORE TAHOE PPV	PATROL X/X				
Product		Description		Qty	Cust. Price	Total
5168T-6SRU	2021+ TAHOE. INCLUDES (ANGLED SIDE BRACKETS T	ES-R-US REVISION PUSH BUMPE B POD LIGHT CHANNEL AT TOP A TO HOLD 12D TYPE LIGHT HEAD COVERS. WRINKLE FINISH BLAC	ND S. ALSO	1	374.87	374.87
COMMANDERELITE6-3R 3B	DUO 6 POD COMMANDER I	ELITE WARNING AND DIRECTION FOR SCENE 3 RED 3 BLUE POD		1	374.00	374.00
SRUS12D-RB-W	DUO 12 diode surface mount RED/BLUE WITH WITE OVE HELLA LIST \$163.00 45% OF		(3)	2	89.65	179.30
M4DWJ	M4 DRIVING/WARNING LT F WHELEN LIST \$234.00 45%			2	128.70	257.40
ECVDMLTAL00	LED Dome Light, Universal M 10-30v - White LEDs/White L SOUNDOFF LIST \$104.00 40		_ight,	1	62.40	62.40
SRU-RUNNER-60-RB	60" STRIP LIGHT WITH BUIL 10 INCH SECTIONS R/B/R/E SHO/ME LIST \$495.00 30% (SSIS 6	2	346.50	693.00
C-VS-1005-TAH-PM	2021 TAHOE PPV CONSOLE 12.5" Wide Angled 15" Vehicl HAVIS LIST \$825.00 35% OF	e Specific Console with Printer Mod	dule	1	536.25	536.25
CUP2-1001	4" Self-Adjusting Double Cup Ocupies 4" of equip bracket s HAVIS LIST \$63.50 35% OFF	Holder. space with a depth of 3"		1	41.28	41.28
C-AP-0325	3" accessory pocket, 2.5" dee HAVIS LIST \$49.75 35% OFF	ер		1	32.34	32.34
C-ARM-102	Side mount armrest HAVIS LIST \$74.62 35% OFF	PER CONTRACT		1	48.50	48.50
MMSU-1	MAGNETIC MIC SINGLE UN *NON CONTRACT ITEM*	IIT COMPLETE.	 	1	34.95	34.95
			Sales	Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail		\ \ /.	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WV		DBES-R-US.C	OM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
8/27/2021	28606

Bill To:	
PEMBROKE PINES POLICE	
ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Reference	2022 CORE TAHOE PPV PATROL X/X				
Product	Description			Cust. Price	Total
C-USB-2	Dual USB charge only ports		,	48.97	48.97
	HAVIS LIST \$75.34 35% OFF	F PER CONTRACT			
C-EB40-CCS-1P	HAVIS FACE PLATE FOR W	HELEN CENCOM 4"	· · · · · · · · · · · · · · · · · · ·	0.00	0.00
	INCLUDED WITH CONSOLE				
C-HDM-214	8.5" Heavy Duty Telescoping		· · · · · · · · · · · · · · · · · · ·	83.66	83.66
	HAVIS LIST \$128.70 35% OF				
C-MD-112	Tilt/swivel slide motion adapte	er	· · · · · · · · · · · · · · · · · · ·	1 221.36	221.36
	HAVIS LIST \$340.55 35% OF				
UT-1006	Universal Rugged Cradle for	approximately 11"-14" Computing [Devices.	1 213.82	213.82
		nd short fingers in order to be comp	atible		
	with all laptop sizes				
	HAVIS LIST \$328.95 35% OF				
PA1580-1921		C Power Adapter is designed to po		121.46	121.46
		book and to charge its internal batt			
	levels as required by the Tou	The adapter supplies current and v	voitage		
	LIND LIST \$134.95 10% OFF				
LB3692-003	POWER CABLE FOR BROT			27.00	27.00
LD3092-003	*NON CONTRACT ITEM*	HER FENTAX FRINTER		27.00	27.00
LB3603		FOR BROTHER PENTAX PRINTER	٠ .	14.99	14.99
LD3003	NON CONTRACT ITEM*	ON BROTTLEN FENTAX FRINTER	`	14.99	14.99
PRPSP5714T21A		E SAVER FRONT PARTITION WIT	THPOLY	744.75	744.75
1 IXI 31 37 1412 IA		WITH EXP METAL INSERT UNDE		144.73	144.13
		DING WINDOW WITH MESH.	INOLAI		
	PRO-GARD LIST \$993.00 25				
S5702T21OSB		rey ABS, Standard Transport Seat	w/ 1/4"	1,355.25	1,355.25
	Poly Window Cargo Barrier, a			1,000.20	1,000.20
	PRO-GARD LIST \$1807.00 2				
WB57NPT21	2021 Tahoe PPV Pair, Steel	Window Bars (for use with OEM Do	or ·	198.00	198.00
	Panels only)	•			
	PRO-GARD LIST \$264.00 25	5% OFF PER CONTRACT			
	I		, l	1	
			Sales Tax (7.	00%)	\$0.00
		_	,	,	
Phone #	Fax #	E-mail	V	Veb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STF	ROBES-R-US.	COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date 8/27/2021	Estimate # 28606
0/2//2021	20000

Bill To:	
PEMBROKE PINES POLICE	
ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Reference	2022 CORE TAHOE PPV	PATROL X/X				
Product		Description	Qt	У	Cust. Price	Total
SC-920-SRU-HORIZONT AL		N LOCK WITH 24" ADJUSTABLE RA HEAD HORIZONTAL - INCLUDES 2 20% OFF PER CONTRACT		1	231.96	231.96
7126-7634	40"W x 34"D x 14"H steel co Boss box with single drawer STRONG BOX;IST \$1499.0	nstruction T Handle Single Lock Larg 0 10% OFF PER CONTRACT *PLEA DISCOUNT ON THIS VAULT, SAVIN	SE	1	999.00	999.00
GRAPHICS	GRAPHICS DONE BY GDI GRAPHICS **NO TINT BY SRUS**	, CUSTOMER WILL PICK UP**		1	537.00	537.00
INSTALL	CUSTOM INSTALLATION PI	ER HOUR		39	55.00	2,145.00
			Sales Tax	(7.0	00%)	\$0.00
Phone #	Fax #	E-mail		w	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	www.s		OBES-R-US.(COM
304-840-8800	904-940-9077	SALESWSKUS.COM	VV VV	אוכ	JDE3-K-U3.(JOINI



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Date	Estimate #
8/27/2021	28606

Bill To:
PEMBROKE PINES POLICE ATTN: CHRIS/MARK 9500 PINES BLVD PEMBROOKE PINES, FL 33026

Ship To:	
PEMBROKE PINES POLICE DEPARTMENT 9500 PINES BLVD PEMBROKE PINES, FL 33024	

Reference	2022 CORE TAHOE PPV	PATROL X/X			
Product		Description	Qty	Cust. Price	Total
	16518178, 16518180) PROGRAM CORE EMERGE GRAPHICS **NO TINT BY SRUS** **PUT SEATS ON PALLETS, REMOVE FRONT CENTER S DISABLE REAR WINDOWS DISABLE REAR DOORS LOWAPPLICABLE 1 X BREAKER (183-0008) *ACTIVATE OEM OPTION HI AVAILABLE 1 X 55" WECAN X DUO LEG WITH OVERRIDE TO WHITE WITH OVERRIDE TO AMBEI REAR ARE TRIO RED FOR S 1 X CORE SYSTEM CPU WI FUNCTION, DUAL SIREN, S CONTROL (C399, CCTL7, C) *SPEAKERS TO BE MOUNT BUMPER 2 X R/B LED'S MOUNTED U LED'S NOT AVAILABLE FOR 2 X RED LED'S IN BRAKE R ADAPTER (HW - A6) 2 X BLUE LED'S IN WHITE T ADAPTER (HA - A10) 2 X R/B LED'S REAR SIDE C 1 X RRRR/BBBB 8 POD LED (COM+8, SRUS-L-3)	CUSTOMER WILL PICK UP** SEAT *IF APPLICABLE *IF APPLICABLE CK AND HANDLES INSIDE *IF EADLIGHT/TAILLIGHT FLASHER ACY BAR. FRONT IS 1/2 RED 1/2 E SCENE. REAR IS 1/2 RED 1/2 E R ARROW. 2 CUSTOM PODS IN STOP LIGHT (EB2-STT-RB, STP) TH VEHICLE-TO-VEHICLE SYNG PEAKERS AND EMERGENCY LI 399K6, CEXAMP, CV2V, SA315P 'ED BEHIND GRILL - NOT ON PU	BLUE BLUE THE KT*) C GHTING C, SAK70) ISH HIDDEN		
			Sales Tax (7.	00%)	\$0.00
Phone #	Fax #	E-mail	v	Veb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	NAMA MAY OTE	OBES-R-US.C	<u> </u>



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

8/27/2021	28606
Date	Estimate #

Bill To:	
PEMBROKE PINES POLICE ATTN: CHRIS/MARK 9500 PINES BLVD PEMBROOKE PINES, FL 33026	

Reference	2022 CORE TAHOE PPV	PATROL X/X			
Product		Description	Q	ty Cust. Price	Total
	WHITE SCENE OVERRIDE (2 X R/B LED'S WITH WHITE ANGLE BRACKET FOR BET OF PUSH BUMPER (SRU12 2 X R/B LED WITH WHITE CORIGHT SIDE OF TAG (M4DW 1 X DOME LIGHT LED R/W (ECVDMLTAL00) 2 X R/B 60 INCH UNDERCAL "RUNNERS" WARNING ONI 2 X R/B LED'S ON REAR HATOPEN (TLIJ) 1 X NEW 2021 WIDE TAHOE HOLD (C-VS-1005-TAH-PM) 1 X DUAL ADJUSTABLE C 1 X 3 INCH ACCESSORY F 1 X ARM REST (C-ARM-10 1 X DUAL USB CHARGE CONSOLE CUT OUT (C-USE *CONSOLE CUT OUT (C-USE *CONSOLE COMES WITH FACE PLATE FOR WHELEN 1 X COMPUTER SIDE MO ADAPTER FOR PANASONIC UT-1006, PA1580-1921) 1 X POWER CABLE FOR P 1 X 10 FOOT USB CABLE FIRM WOOD ADAPTER FOR PANASONIC UT-1006, PA1580-1921) 1 X FULL CAGE SYSTEM W	E SCENÉ OVERRIDE ON 45 DEI TER INTERSECTION CLEARANI D-RB-W) IVERRIDE *FOR REVERSE* LEF VJ) ON REAR HATCH INSIDE DOOR RRIAGE LIGHT BAR WITH BRAC LY (SRU-RUNNER-60-RB) ITCH DOOR VISIBLE WHEN HAT E CONSOLE WITH INTEGRATED TO INCLUDE: UP HOLDER (CUP2-1001) POCKET (C-AP-0325) I2) IER (MMSU-1) ONLY PORTS TO BE INSTALLED 3-2) 12V AUX (CIG) PLUGS CONTROLLER (C-EB40-CCS1P UNT WITH UNIVERSAL TRAY AN C TOUGHBOOK (C-HDM-214, C- PRINTER (LB3692-003) FOR PRINTER (LB3603) ITH OUTBOARD SEATBELTS, AE DEM DOORS (PRPSP5714T21A, I) FRONT BARRIER	GREE CE SIDE T AND CKETS CH IS PRINTER IN JUD LIND -MD-112,		
			Sales Tax	(7.00%)	\$0.00
Phone #	Fax #	E-mail		Web Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	\^\^\^\	STROBES-R-US.C	·OM
	934-940-9011	JALLOWSINGS.COM	1 ******	.0110000-11-00.0	, CIVI



Reference

STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

2022 CORE TAHOE PPV PATROL X/X

Date	Estimate #
8/27/2021	28606

ill To:	Ship To:
EMBROKE PINES POLICE TTN: CHRIS/MARK 500 PINES BLVD EMBROOKE PINES, FL 33026	PEMBROKE PINES POLICE DEPARTMENT 9500 PINES BLVD PEMBROKE PINES, FL 33024

Product			Description		Qty	Cust. Price	Total
	1 X VAL	JLT IN REAR CARGO	AREA (7126-7634)				
DI	i	n advance for an a	unnaintmant		Sub	l total	\$13,982.91
	ase call ii	i auvance ioi an a	рропшнети				
Approved By:				Sales	s Tax (7.0	00%)	\$0.00
PO #:					T	otal	\$13,982.91
Phone #		Fax #	E-mail		W	eb Site	
954-946-9955		954-946-9677	SALES@SRUS.COM	V	vww.str	OBES-R-US	.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #
12/15/2020	24415

Bill To:	
PEMBROKE PINES POLICE	
ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Reference	2022 CAPTAIN TAHOE ADMIN			
Product	Description	Qty	Cust. Price	Total
183-0008	Circuit breaker, 50 amp thermal with manual reset, surface mount	1	48.75	48.75
	DNR LIST \$65.00 25% OFF PER CONTRACT			
HHS4200	WHELEN HAND-HELD SIREN SYSTEM. SAME AS HHS3200, BUT	1	329.45	329.4
	WITH WeCan Port that Supports the Inner Edge FST, XLP and RST			
	Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use			
	with the CANEM16 Expansion Module)			
	WHELEN LIST \$599.00 45% OFF PER CONTRACT (SPECIAL LIST			
CARAED	PRICE TO REPLACE OLD MODEL, ONE TIME ONLY)		445.75	445.70
SA315P	SA315P SPEAKER, BLACK PLASTIC	1	145.75	145.75
0.4144	WHELEN LIST \$328.00 45% OFF PER CONTRACT		0.00	0.00
SAK1	SA-315 MOUNT KIT UNIVERSAL "L" BRACKET	1	0.00	0.00
	INCLUDED WITH SPEAKER			
ULB9LDC-RBWW	STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT)	2	131.45	262.90
	SIGNAL LIST \$239.00 45% OFFPER CONTRACT			
COMMANDERPLUS8-4R 4B			373.45	373.45
4D	WITH 4 RED AND 4 BLUE PODS			
SRUS-L-3	SIGNAL LIST \$679.00 45% OFF PER CONTRACT		0.05	47.00
SRUS-L-3	"L" BRACKET FOR ARROW STICK 3"	2	8.95	17.90
A) (004 P.P.	STOCK ITEM		405.00	004.00
AVC21RB DUAL AVENGER II SOLO WITH CORD 2 SINGLE COLOR PODS		T 2	195.80	391.60
	POD RED RIGHT POD BLUE WHELEN LIST \$356.00 45% OFF PER CONTRACT			
TLIJ	l · · · · · · · · · · · · · · · · · · ·	4	74.25	297.00
ILIJ	ION T-SERIES LINEAR SPLIT R/B		74.25	297.00
SRUS-4X-T	WHELEN LIST \$135.00 45% OFF PER CONTRACT		0.05	40.00
3803-42-1	"T" STYLE BRACKET FOR SINGLE 4X,6X,TIR3,TLION, & MS6		9.95	19.90
HERO-A	STOCK ITEM		00.05	400.50
nero-a	HIDEAWAY LED W/AMBER INDICATOR LEDS/ R,B,A,W Warning LED (*Must use vehicle adaptor bezel for proper installation)	5 2	96.25	192.50
	Must use vericle adaptor bezer for proper installation) HELLA LIST \$175.00 45% OFF PER CONTRACT			
HERO-ADAPTER10	HIDEAWAY LED ADAPTER FOR 2021 TAHOE REAR TURN	2	10.45	20.90
TIERO-ADAI TERTO	HELLA LIST \$19.00 45% OFF PER CONTRACT		10.43	20.90
	ITILLEA LIST \$18.00 45% OFF FEN CONTINACT			
	6-	les Tax (7.0	100/1	\$0.00

Phone #	Fax #	E-mail	Web Site
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Date	Estimate #
12/15/2020	24415

Bill To:	
PEMBROKE PINES POLICE ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Ship To:
PEMBROKE PINES POLICE DEPARTMENT 9500 PINES BLVD PEMBROKE PINES, FL 33024
FEINBRORE FINES, FL 33024

Reference	2022 CAPTAIN TAHOE AL	OMIN			
Product		Description	Qty	Cust. Price	Total
ECVDMLTAL00	LED Dome Light, Universal M 10-30v - White LEDs/White L SOUNDOFF LIST \$104.00 40	ght, 1	62.40	62.40	
THMS500-PPI	OUTLETS. CAN ACCOMOD	OWER INVERTER WITH ADDED US DATE SEPARATE TH002 REMOTE O CAN BE USED WITH INSTALL KIT	l l	59.95	59.95
INV-PK400	WIRING KIT FOR 400 WATT	INVERTER. INCLUDES 10GA POV TTERY WITH MAXI FUSE HOLDER		45.50	45.50
Z-CUSTOM -2022 TAHC	PER ESTIMATE 234108 Custom TruckVault Vehicle Model/Year:2022 (20) 3rd row seats removed	21+) Chevy Tahoe	1	3,859.40	3,859.40
INSTALL	CUSTOM INSTALLATION PE 1 X *NEW* CUSTOM STORA 1 X POWER INVERTER WIT CIG PLUG ON REAR OF LO	c dry erase mapboard site with key override ers ers 00 8% OFF PER CONTRACT	ILT IN	55.00	440.00
	(ECVDMLTAL00)	AD DRAWING BEFORE ORDERING	G*		
<u> </u>			Sales Tax (7.0	00%)	\$0.00
Phone #	Fax #	E-mail	w	eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM		$\overline{\cap}$



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Date	Estimate #
12/15/2020	24415

Bill To:	Ship To:
PEMBROKE PINES POLICE ATTN: CHRIS/MARK 9500 PINES BLVD PEMBROOKE PINES, FL 33026	PEMBROKE PINES POLICE DEPARTMENT 9500 PINES BLVD PEMBROKE PINES, FL 33024

Reference 2022 CAPTAIN TAHOE ADMIN					
Product	[Description	Qty	Cust. Price	Total
INSTALL	CUSTOM INSTALLATION PER PREPARE AND RUN WIRE HA PROGRAM SIREN SYSTEM *HORN TRANSFER* 1 X BREAKER (183-0008) 1 X HAND HELD SIREN SYSTE 1 X SPEAKER AND BRACKET 2 X R/B LED'S WITH WHITE O'LEFT ANF RIGHT (ULB9LDC-R 2 X R/B SPLIT LEDS IN GRILL SRUS-4X-T) 2 X R/B SPLIT LEDS ON SIDE 1 X 8 POD STICK R/B/R/B/R/B/(COM+8, SRUS-L-3) 2 X R/B LED'S UNDER HEADL 2 X R/B HIDDEN LED'S WHITE WITH ADAPTER (HA-A10) 1 X LIGHT IN CARGO AREA (E 1 X POWER INVERTER AND K (THMS500-PPI, INV-PK400)	EM (HHS3200) (SA315P, SAK1) (FERRIDE FRONT WINDSHIELD BWW) WITH BRACKET *SMOKED* (TI REAR CARGO (AVC21RB) R/B REAR WINDOW WITH BRA GHT ASSEMBLY *SMOKED* (TI HOUSING LIGHT ASSEMBLY N	* (TLIJ, BRACKETS * (TLIJ) LY NO DRILL		
	Please call in advance for an appointment		Subtotal \$7,7		
Approved By:			Sales Tax (7.00%) \$0.00		\$0.00
PO #:			Total \$7,777.		\$7,777.35
Phone #	Fax #	E-mail	Web Site		
954-946-99	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM		COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Official Estimate

Date	Estimate #		
9/20/2021	28941		

Bill To:	
PEMBROKE PINES POLICE	
ATTN: CHRIS/MARK	
9500 PINES BLVD	
PEMBROOKE PINES, FL 33026	

Reference	2022 UM SUV TRAVERSE					
Product		Description		Qty	Cust. Price	Total
183-0008		nal with manual reset, surface mou	int	1	48.75	48.75
HHS4200	DNR LIST \$65.00 25% OFF PER CONTRACT WHELEN HAND-HELD SIREN SYSTEM. SAME AS HHS3200, BUT WITH WeCan Port that Supports the Inner Edge FST, XLP and RST Series, WeCan Lightbars, and a WeCan External Amplifier (Not for Use with the CANEM16 Expansion Module) WHELEN LIST \$699.00 45% OFF PER CONTRACT				384.45	384.45
SAK1	SA-315 MOUNT KIT UNIVER WHELEN LIST \$41.00 45% (RSAL "L" BRACKET		1	22.55	22.55
SA315P	SA315P SPEAKER, BLACK WHELEN LIST \$265.00 45%	PLASTIC		1	145.75	145.75
ULB9LDC-RBWW	STAR 9" MINI PHANTOM LED LIGHT (RED/BLU/WHT/WHT) STAR LIST \$239.00 45% OFF PER CONTRACT			2	131.45	262.90
VTX609J	VERTEX SUPER-LED SPLIT WHELEN LIST \$118.00 45%	RED/BLU		4	64.90	259.60
TLIJ	ION T-SERIES LINEAR SPLI WHELEN LIST \$135.00 45%	T R/B		2	74.25	148.50
SRUS-4X-T	•	SINGLE 4X,6X,TIR3,TLION, & MS6	6	2	9.20	18.40
IONJ	ION LIGHT RED/BLUE WHELEN LIST \$140.00 45%	OFF PER CONTRACT		2	77.00	154.00
COMMANDERPLUS6-3R 3B		WARNING AND DIRECTIONAL S ODS	TICK	1	296.45	296.45
SRUS-L-3	"L" BRACKET FOR ARROW STICK 3" STOCK ITEM			2	8.95	17.90
7126-7611	40" W x 22"D x 11"H steel co size single Drawer Boss Box BOSS LIST \$1,089.00 10% C	onstruction T Handle Single Lock M	ledium	1	980.90	980.90
	I					
			Sales	Tax (7.0	00%)	\$0.00
	1					
Phone #	Fax #	E-mail			eb Site	
954-946-9955	954-946-9677	SALES@SRUS.COM	W	WW.STR	OBES-R-US.C	COM



STROBES-R-US 2681 HAMMONDVILLE RD POMPANO BEACH, FL 33069

Date 9/20/2021	Estimate # 28941
9/20/2021	28941

Bill To:
PEMBROKE PINES POLICE
ATTN: CHRIS/MARK
9500 PINES BLVD
PEMBROOKE PINES, FL 33026

Ship To:	
PEMBROKE PINES POLICE DEPARTMENT 9500 PINES BLVD PEMBROKE PINES, FL 33024	
,,	

Reference	2022 UM SUV TRAVERSE					
Product		Description		Qty	Cust. Price	Total
THMS500-PPI	OUTLETS. CAN ACCOMOD SWITCH. THIS INVERTER (INVPK-500 STOCK ITEM WIRING KIT FOR 400 WATT	OWER INVERTER WITH ADDED UNDER SEPARATE THOOZ REMOTE CAN BE USED WITH INSTALL KIT INVERTER. INCLUDES 10GA POTTERY WITH MAXI FUSE HOLDE	MOTE ON/OFF ALL KIT GA POWER 1 35.00			59.95 35.00
INSTALL	AMP MAXI FUSE STOCK ITEM CUSTOM INSTALLATION PE PREPARE AND RUN WIRE F PROGRAM SIREN HORN TRANSFER			20	55.00	1,100.00
	FOR SOME MODELS AND F	IIGHT BE SUBSTITUED -PRICE C				
	UPPER LEFT AND RIGHT (L 2 X R/B LED'S REAR SIDE C 2 X R/B LED'S IN FOGLIGHT 2 X R/B HIDDEN LED'S FRO 2 X R/B HIDDEN LED'S REV 1 X 6-POD R/B/R/B/R/B REA (COM+6, SRUS-L-3)	ET (SA315P, SAK1) E OVERIDE FRONT WINDSHIUEL JLB9LDC-RBWW) CARGO WINDOWS (IONJ) FAREA *SMOKED* (TLIJ) INT LIGHT HOUSING (VTX609J)	9J) RACKETS GER SIDE			
Please call in advance for an appointment			Subtotal		\$3,935.10	
Approved By:			Sales	Tax (7.0	0%)	\$0.00
PO #:				To	otal	\$3,935.10
Phone #	Fax #	E-mail	Web Site			
954-946-9955	954-946-9677	SALES@SRUS.COM	WWW.STROBES-R-US.COM			СОМ